BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG JULY 16, 2024

0074-4511D(9.2)

BIDDER'S NAME	AMOUNT
1) TEXASITE, LLC	\$1,559,326.70
2) FELLERS AND CLARK, LP	\$1,563,500.00
3) CROSTEX CONSTRUCTION INC.	\$1,590,000.00
4) BLAZEY CONSTRUCTION SERVICES, LLC	\$1,604,495.72
5) R CONSTRUCTION CIVIL, LLC	\$1,659,048.90
6) KENNETH LAMB CONSTRUCTION CO., LTD.	\$1,681,125.88
7) PRINCIPAL SERVICES, LTD.	\$1,874,746.40

C55/65ALENDAR DAYS - 55/65



I, JUSTIN L. GRAHAM, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG

1) TEXASITE, LLC

JULY 16, 2024

0074-4511D(9.2)

2) FELLERS AND CLARK, LP

3) CROSTEX CONSTRUCTION INC.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS								
 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2414	\$35.00	\$84,490.00	\$40.05	\$96,680.70	\$34.25	\$82,679.50
 8" PVC WATER PIPE WITH RESTRAINED JOINTS, AWWA C-900, DR 18 CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	1631	\$41.00	\$66,871.00	\$43.10	\$70,296.10	\$41.25	\$67,278.75
3. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4045	\$1.00	\$4,045.00	\$0.10	\$404.50	\$1.05	\$4,247.25
 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, FITTINGS, GATE VALVE AND BOX, AND LEAD PIPE, COMPLETE IN PLACE 	EA	8	\$5,336.00	\$42,688.00	\$5,661.10	\$45,288.80	\$6,000.00	\$48,000.00
5. 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,832.00	\$14,656.00	\$1,950.30	\$15,602.40	\$1,700.00	\$13,600.00
REMOVE AND DISPOSE 8" PLUG AND CLAMP AND 2" BLOW OFF VALVE AND BOX AND CONNECT PROPOSED 8" WATER LINE, COMPLETE IN PLACE	EA	3	\$427.00	\$1,281.00	\$174.65	\$523.95	\$1,750.00	\$5,250.00
7. DUCTILE IRON FITTINGS, COMPLETE IN PLACE	TON	1.24	\$7,298.00	\$9,049.52	\$116.45	\$144.40	\$2,500.00	\$3,100.00
SUBTOTAL WATER ITEMS				\$223,080.52		\$228,940.85		\$224,155.50
SANITARY SEWER ITEMS								
1. 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 0'-8' DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	97	\$42.00	\$4,074.00	\$58.20	\$5,645.40	\$37.00	\$3,589.00
8" PVC SANITARY SEWER PIPE, ASTM D-2241, 8"-12" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1026	\$48.00	\$49,248.00	\$58.20	\$59,713.20	\$40.25	\$41,296.50
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 12'-16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2995	\$50.00	\$149,750.00	\$58.20	\$174,309.00	\$45.50	\$136,272.50
4. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4118	\$1.00	\$4,118.00	\$0.10	\$411.80	\$4.00	\$16,472.00
 STANDARD SANITARY SEWER MANHOLE (0'-8' DEPTH), (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE 	EA	28	\$2,942.00	\$82,376.00	\$2,619.80	\$73,354.40	\$3,350.00	\$93,800.00
 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE 	VF	140.5	\$184.00	\$25,852.00	\$133.90	\$18,812.95	\$335.00	\$47,067.50
7. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1369	\$49.00	\$67,081.00	\$47.90	\$65,575.10	\$47.75	\$65,369.75
 "LONG SIDE" DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE 	LF	424	\$53.00	\$22,472.00	\$47.65	\$20,203.60	\$52.00	\$22,048.00
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, WYE, PLUG, DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 	EA	32	\$1,187.00	\$37,984.00	\$1,244.20	\$39,814.40	\$1,760.00	\$56,320.00
 T.V. INSPECTION OF SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	LF	4118	\$0.01	\$41.18	\$2.35	\$9,677.30	\$0.10	\$411.80

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG JULY 16, 2024

1) TEXASITE, LLC

0074-4511D(9.2)

2) FELLERS AND CLARK, LP

3) CROSTEX CONSTRUCTION INC.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11. ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$1.00	\$500.00	\$1.00	\$500.00	\$10.00	\$5,000.00
12. DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$25.00	\$12,500.00
13. STANDARD 6" SANITARY SEWER STACK, ALL DEPTHS, COMPLETE IN PLACE	EA	41	\$608.00	\$24,928.00	\$116.45	\$4,774.45	\$400.00	\$16,400.00
SUBTOTAL SANITARY SEWER ITEMS				\$478,424.18		\$482,791.60		\$516,547.05
DRAINAGE FACILITIES ITEMS								
1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	2470	\$85.00	\$209,950.00	\$90.15	\$222,670.50	\$79.50	\$196,365.00
2. 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	186	\$122.00	\$22,692.00	\$111.80	\$20,794.80	\$100.50	\$18,693.00
3. 36" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	555	\$145.00	\$80,475.00	\$150.15	\$83,333.25	\$138.25	\$76,728.75
4. 42" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	1454	\$195.00	\$283,530.00	\$194.00	\$282,076.00	\$182.50	\$265,355.00
5. 54" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	71	\$331.00	\$23,501.00	\$332.00	\$23,572.00	\$317.00	\$22,507.00
AUGER, BORE AND JACK, OR TUNNEL FOR54" RCP. (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	20	\$75.00	\$1,500.00	\$50.00	\$1,000.00	\$1,000.00	\$20,000.00
7. TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	4736	\$1.00	\$4,736.00	\$0.10	\$473.60	\$1.05	\$4,972.80
8. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$3,352.00	\$103,912.00	\$2,660.15	\$82,464.65	\$3,700.00	\$114,700.00
9. TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,995.00	\$4,995.00	\$9,394.00	\$9,394.00	\$9,400.00	\$9,400.00
10. OVERFLOW SWALE, COMPLETE IN PLACE	LF	1092	\$6.00	\$6,552.00	\$5.80	\$6,333.60	\$5.00	\$5,460.00
 STAGE I – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS, COMPLETE IN PLACE 	EA	25	\$1,776.00	\$44,400.00	\$1,088.65	\$27,216.25	\$3,000.00	\$75,000.00
12. STAGE II – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	25	\$1,776.00	\$44,400.00	\$2,631.45	\$65,786.25	\$500.00	\$12,500.00
13. STAGE II – TYPE "C-1" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$2,775.00	\$11,100.00	\$2,940.00	\$11,760.00	\$750.00	\$3,000.00
14. TYPE 'E' INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,330.00	\$6,660.00	\$3,725.95	\$7,451.90	\$4,200.00	\$8,400.00
15. STAGE 1- TYPE 'C-1' REINFORCED CONCRETE PRECAST CURB INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$1,776.00	\$7,104.00	\$1,228.40	\$4,913.60	\$3,000.00	\$12,000.00
16. REMOVE AND DISPOSE OF 8" BRICKWALL PLUG (BY OTHERS) AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00	\$550.00	\$550.00	\$1,500.00	\$1,500.00
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$856,157.00		\$849,790.40		\$846,581.55

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG JULY 16, 2024

1) TEXASITE, LLC

2) FELLERS AND CLARK, LP

3) CROSTEX CONSTRUCTION INC.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS								
 STORM WATER POLLUTION PREVENTION PLAN, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL OF FILTER FABRIC FENCING, INLET PROTECTION, CONCRETE WASHOUT, AND CONSTRUCTION ENTRANCE, ETC., COMPLETE IN PLACE 	LS	1	\$1,665.00	\$1,665.00	\$1,977.15	\$1,977.15	\$2,715.90	\$2,715.90
SUBTOTAL MISCELLANEOUS ITEMS				\$1,665.00		\$1,977.15		\$2,715.90
BID SUMMARY								
SUBTOTAL WATER ITEMS				\$223,080.52		\$228,940.85		\$224,155.50
SUBTOTAL SANITARY SEWER ITEMS				\$478,424.18		\$482,791.60		\$516,547.05
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$856,157.00		\$849,790.40		\$846,581.55
SUBTOTAL MISCELLANEOUS ITEMS				\$1,665.00		\$1,977.15		\$2,715.90
TOTAL AMOUNT BID				\$1,559,326.70		\$1,563,500.00		\$1,590,000.00

0074-4511D(9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG

5) R CONSTRUCTION CIVIL, LLC

JULY 16, 2024 0074-4511D(9.2)

4) BLAZEY CONSTRUCTION SERVICES, LLC

			4) BEAZET CONSTRUCTI	OIV OLIVVIOLO, LLO	3)11 00101110011	OIV OIVIL, LLC	CO., LT	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS								
 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2414	\$36.00	\$86,904.00	\$37.00	\$89,318.00	\$40.00	\$96,560.00
 8" PVC WATER PIPE WITH RESTRAINED JOINTS, AWWA C-900, DR 18 CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	1631	\$41.00	\$66,871.00	\$47.00	\$76,657.00	\$51.00	\$83,181.00
3. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4045	\$0.30	\$1,213.50	\$0.10	\$404.50	\$2.00	\$8,090.00
 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, FITTINGS, GATE VALVE AND BOX, AND LEAD PIPE, COMPLETE IN PLACE 	EA	8	\$6,451.00	\$51,608.00	\$6,700.00	\$53,600.00	\$6,303.00	\$50,424.00
5. 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,957.00	\$15,656.00	\$2,200.00	\$17,600.00	\$1,988.00	\$15,904.00
REMOVE AND DISPOSE 8" PLUG AND CLAMP AND 2" BLOW OFF VALVE AND BOX AND CONNECT PROPOSED 8" WATER LINE, COMPLETE IN PLACE	EA	3	\$681.00	\$2,043.00	\$300.00	\$900.00	\$650.00	\$1,950.00
7. DUCTILE IRON FITTINGS, COMPLETE IN PLACE	TON	1.24	\$5,698.00	\$7,065.52	\$5,500.00	\$6,820.00	\$6,387.00	\$7,919.88
SUBTOTAL WATER ITEMS				\$231,361.02		\$245,299.50		\$264,028.88
SANITARY SEWER ITEMS								
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 0"-8" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	97	\$48.00	\$4,656.00	\$43.00	\$4,171.00	\$46.00	\$4,462.00
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 8"-12" DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	1026	\$51.00	\$52,326.00	\$43.00	\$44,118.00	\$49.00	\$50,274.00
3. 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 12'-16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2995	\$58.00	\$173,710.00	\$44.00	\$131,780.00	\$52.00	\$155,740.00
4. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4118	\$0.30	\$1,235.40	\$0.10	\$411.80	\$2.00	\$8,236.00
 STANDARD SANITARY SEWER MANHOLE (0'-8' DEPTH), (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE 	EA	28	\$2,948.00	\$82,544.00	\$3,300.00	\$92,400.00	\$2,910.00	\$81,480.00
EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	140.5	\$175.00	\$24,587.50	\$200.00	\$28,100.00	\$200.00	\$28,100.00
7. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1369	\$64.00	\$87,616.00	\$40.00	\$54,760.00	\$57.00	\$78,033.00
8. "LONG SIDE" DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	424	\$65.00	\$27,560.00	\$40.00	\$16,960.00	\$59.00	\$25,016.00
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, WYE, PLUG, DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE 	EA	32	\$1,412.00	\$45,184.00	\$1,350.00	\$43,200.00	\$1,106.00	\$35,392.00
10. T.V. INSPECTION OF SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	4118	\$2.30	\$9,471.40	\$2.00	\$8,236.00	\$3.00	\$12,354.00

6) KENNETH LAMB CONSTRUCTION

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SUBTOTAL DRAINAGE FACILITIES ITEMS

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG

5) R CONSTRUCTION CIVIL, LLC

4) BLAZEY CONSTRUCTION SERVICES, LLC

JULY 16, 2024 0074-4511D(9.2)

			4) BLAZET CONSTRUCT	ION SERVICES, LLC	5) K CONSTRUCT	ION CIVIL, LLC	CO., L	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11. ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$16.00	\$8,000.00	\$15.00	\$7,500.00	\$15.00	\$7,500.00
12. DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$27.00	\$13,500.00	\$20.00	\$10,000.00	\$25.00	\$12,500.00
13. STANDARD 6" SANITARY SEWER STACK, ALL DEPTHS, COMPLETE IN PLACE	EA	41	\$521.00	\$21,361.00	\$700.00	\$28,700.00	\$513.00	\$21,033.00
SUBTOTAL SANITARY SEWER ITEMS				\$551,751.30		\$470,336.80		\$520,120.00
DRAINAGE FACILITIES ITEMS								
1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	2470	\$76.00	\$187,720.00	\$83.00	\$205,010.00	\$86.00	\$212,420.00
2. 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	186	\$97.00	\$18,042.00	\$130.00	\$24,180.00	\$117.00	\$21,762.00
3. 36" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	555	\$136.00	\$75,480.00	\$183.00	\$101,565.00	\$144.00	\$79,920.00
4. 42" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	1454	\$183.00	\$266,082.00	\$214.00	\$311,156.00	\$209.00	\$303,886.00
5. 54" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	71	\$318.00	\$22,578.00	\$362.00	\$25,702.00	\$329.00	\$23,359.00
 AUGER, BORE AND JACK, OR TUNNEL FOR54" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE 	LF	20	\$817.00	\$16,340.00	\$1,900.00	\$38,000.00	\$351.00	\$7,020.00
7. TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	4736	\$0.30	\$1,420.80	\$0.10	\$473.60	\$1.00	\$4,736.00
TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$3,640.00	\$112,840.00	\$3,300.00	\$102,300.00	\$3,411.00	\$105,741.00
TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$6,187.00	\$6,187.00	\$5,900.00	\$5,900.00	\$5,711.00	\$5,711.00
10. OVERFLOW SWALE, COMPLETE IN PLACE	LF	1092	\$3.80	\$4,149.60	\$3.00	\$3,276.00	\$6.00	\$6,552.00
 STAGE I – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS, COMPLETE IN PLACE 	EA	25	\$1,503.00	\$37,575.00	\$1,150.00	\$28,750.00	\$1,451.00	\$36,275.00
12. STAGE II – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	25	\$2,021.00	\$50,525.00	\$2,900.00	\$72,500.00	\$2,551.00	\$63,775.00
13. STAGE II – TYPE "C-1" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$1,935.00	\$7,740.00	\$2,900.00	\$11,600.00	\$3,011.00	\$12,044.00
14. TYPE 'E' INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,042.00	\$6,084.00	\$2,900.00	\$5,800.00	\$2,736.00	\$5,472.00
15. STAGE 1- TYPE 'C-1' REINFORCED CONCRETE PRECAST CURB INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$1,677.00	\$6,708.00	\$1,350.00	\$5,400.00	\$1,451.00	\$5,804.00
16. REMOVE AND DISPOSE OF 8" BRICKWALL PLUG (BY OTHERS) AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$410.00	\$410.00	\$600.00	\$600.00	\$500.00	\$500.00

\$894,977.00

\$819,881.40

\$942,212.60

6) KENNETH LAMB CONSTRUCTION

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG

		4) BLAZEY CONSTRUCTION SERVICES, LLC 5) R CONSTRUCTION CIVIL, LLC		4) BLAZEY CONSTRUCTION SERVICES, LLC		6) KENNETH LAMB CONSTRUCTION CO., LTD.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS								
 STORM WATER POLLUTION PREVENTION PLAN, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL OF FILTER FABRIC FENCING, INLET PROTECTION, CONCRETE WASHOUT, AND CONSTRUCTION ENTRANCE, ETC., COMPLETE IN PLACE 	LS	1	\$1,502.00	\$1,502.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
SUBTOTAL MISCELLANEOUS ITEMS				\$1,502.00		\$1,200.00		\$2,000.00
BID SUMMARY								
SUBTOTAL WATER ITEMS				\$231,361.02		\$245,299.50		\$264,028.88
SUBTOTAL SANITARY SEWER ITEMS				\$551,751.30		\$470,336.80		\$520,120.00
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$819,881.40		\$942,212.60		\$894,977.00
SUBTOTAL MISCELLANEOUS ITEMS				\$1,502.00		\$1,200.00		\$2,000.00
TOTAL AMOUNT BID				\$1,604,495.72		\$1,659,048.90		\$1,681,125.88

JULY 16, 2024 0074-4511D(9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG JULY 16, 2024 0074-45110(9.2)

7) PRINCIPAL SERVICES, LTD.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
WATER ITEMS				
 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2414	\$35.00	\$84,490.00
 8" PVC WATER PIPE WITH RESTRAINED JOINTS, AWWA C-900, DR 18 CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	1631	\$52.00	\$84,812.00
3. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4045	\$0.10	\$404.50
 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE AND BOX, AND LEAD PIPE, COMPLETE IN PLACE 	EA	8	\$6,887.00	\$55,096.00
5. 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,986.00	\$15,888.00
REMOVE AND DISPOSE 8" PLUG AND CLAMP AND 2" BLOW OFF VALVE AND BOX AND CONNECT PROPOSED 8" WATER LINE, COMPLETE IN PLACE	EA	3	\$691.00	\$2,073.00
7. DUCTILE IRON FITTINGS, COMPLETE IN PLACE	TON	1.24	\$500.00	\$620.00
SUBTOTAL WATER ITEMS				\$243,383.50
SANITARY SEWER ITEMS				
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 0'-8' DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	97	\$50.00	\$4,850.00
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 8'-12' DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	1026	\$55.00	\$56,430.00
 8" PVC SANITARY SEWER PIPE, ASTM D-2241, 12"-16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE 	LF	2995	\$60.00	\$179,700.00
4. TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4118	\$0.10	\$411.80
 STANDARD SANITARY SEWER MANHOLE (0'-8' DEPTH), (INCLUDES INFLOW PROTECTOR), COMPLETE IN PLACE 	EA	28	\$3,650.00	\$102,200.00
EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	140.5	\$217.00	\$30,488.50
7. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1369	\$51.00	\$69,819.00
8. "LONG SIDE" DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	424	\$51.00	\$21,624.00
9. "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDES CEMENT STABILIZED SAND BACKFILL, WYE, PLUG, DROPS, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	32	\$2,185.00	\$69,920.00
 T.V. INSPECTION OF SANITARY SEWER LINES, ALL DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 	LF	4118	\$1.00	\$4,118.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024 LJA ENGINEERING, INC. S. YOUNG JULY 16, 2024 074-45110(9.2)

7) PRINCIPAL SERVICES, LTD.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
 ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF	500	\$1.00	\$500.00
12. DEWATERING FOR SANITARY SEWER, ALL SIZES, ALL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$15.00	\$7,500.00
13. STANDARD 6" SANITARY SEWER STACK, ALL DEPTHS, COMPLETE IN PLACE	EA	41	\$522.00	\$21,402.00
SUBTOTAL SANITARY SEWER ITEMS				\$568,963.30
DRAINAGE FACILITIES ITEMS				
1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	2470	\$108.00	\$266,760.00
2. 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	186	\$130.00	\$24,180.00
3. 36" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	555	\$184.00	\$102,120.00
4. 42" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	1454	\$248.00	\$360,592.00
5. 54" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, COMPLETE IN PLACE	LF	71	\$425.00	\$30,175.00
AUGER, BORE AND JACK, OR TUNNEL FOR54" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	20	\$100.00	\$2,000.00
7. TRENCH SAFETY SYSTEM, ALL DEPTHS AND SIZES, COMPLETE IN PLACE	LF	4736	\$0.10	\$473.60
8. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$4,276.00	\$132,556.00
TYPE "C" MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,512.00	\$4,512.00
10. OVERFLOW SWALE, COMPLETE IN PLACE	LF	1092	\$3.00	\$3,276.00
 STAGE I – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS, COMPLETE IN PLACE 	EA	25	\$1,584.00	\$39,600.00
12. STAGE II – TYPE "B-B" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	25	\$2,795.00	\$69,875.00
13. STAGE II – TYPE "C-1" REINFORCED CONCRETE PRECAST CURB INLET, INCLUDES STAGE II INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$2,718.00	\$10,872.00
14. TYPE 'E' INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,221.00	\$6,442.00
15. STAGE 1- TYPE 'C-1' REINFORCED CONCRETE PRECAST CURB INLET PROTECTION, COMPLETE IN PLACE	EA	4	\$1,650.00	\$6,600.00
16. REMOVE AND DISPOSE OF 8" BRICKWALL PLUG (BY OTHERS) AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$366.00	\$366.00
SUBTOTAL DRAINAGE FACILITIES ITEMS				\$1,060,399.60

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE NEWPORT GROVE SECTION 1 NOEWPORT MUNICIPAL UTILITY DISTRICT CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 16, 2024
LJA ENGINEERING, INC.
S. YOUNG
JULY 16, 2024
0074-4511D(9.2)

7) PRINCIPAL SERVICES, LTD.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS				
1. STORM WATER POLLUTION PREVENTION PLAN, INCLUDES INSTALLATION,	LS	1	\$2,000.00	\$2,000.00

 STORM WATER POLLUTION PREVENTION PLAN, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL OF FILTER FABRIC FENCING, INLET PROTECTION, CONCRETE WASHOUT, AND CONSTRUCTION ENTRANCE, ETC., COMPLETE IN PLACE

SUBTOTAL MISCELLANEOUS ITEMS \$2,000.00

BID SUMMARY

SUBTOTAL WATER ITEMS\$243,383.50SUBTOTAL SANITARY SEWER ITEMS\$568,963.30SUBTOTAL DRAINAGE FACILITIES ITEMS\$1,060,399.60SUBTOTAL MISCELLANEOUS ITEMS\$2,000.00TOTAL AMOUNT BID\$1,874,746.40